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QUESTION 1

Given the customer requirement: 

If there is only one valid grade for a job or position, the value will be automatically defaulted in the grade 

field. 

Which allows this to be achieved? 

A. Enforce Valid Grades (Y/N) is set to Y in the profile options 

B. Default the Grade from Job/Position (Y/N) is set to Y in the profile options 

C. Default the Grade from Job/Position (Y/N) is set to N in the profile options 

D. Enforce Valid Grades (Y/N) is set to N in the profile options 

Correct Answer: B 

 

QUESTION 2

Your organization uses Calendar Events to track public holidays. 

How are workers associated with calendar events (public holidays)? 

A. using a department hierarchy (tree) or a geography hierarchy (tree) with which the worker is associated based on
their personal or assignment information 

B. associating a calendar event category with the worker\\'s assignment 

C. using a department hierarchy (tree) or a position hierarchy (tree) with which the worker is associated based on their
personal or assignment information 

D. using an organization hierarchy (tree) or a geography hierarchy (tree) with which the worker is associated based on
their personal or assignment information 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E15586_01/fusionapps.1111/e20379/F344192AN2D261.htm 

 

QUESTION 3

As an implementation consultant, you have defined multiple grades for each job and position. While 

defining employment terms or assignments, users must be able to select a grade only from the list that has 

been defined for the job or position. However, all grades are available. 

What is the cause for this? 
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A. PER_DEFAULT_GRADE_FROM_JOB_POSITION is set to Yes at user level. 

B. PER_DEFAULT_GRADE_FROM_JOB_POSITION is set to No at site level. 

C. PER_ENFORCE_VALID_GRADES is set to No at site level. 

D. GRADE_PAY_RATE_TYPE is set to No at site level. 

E. PER_ENFORCE_VALID_GRADES is set to Yes at site level. 

Correct Answer: C 

 

QUESTION 4

You want to use Tree Management feature of Functional Setup Manager to organize data into hierarchies. 

Which option represents seeded tree structures? 

A. organization, job, division, geographies 

B. organization, position, division, geographies 

C. organization, position, department, geographies 

D. organization, job, department, geographies 

E. organization, position, division, establishment 

Correct Answer: C 

 

 

QUESTION 5

What are three advantages of using Position Synchronization? 

A. If you use Position Synchronization, Manager Self Service cannot be used. 

B. Synchronized attributes will be displayed as read-only in the assignment to ensure the position as the only source of
truth. 

C. For synchronized attributes, any position update will automatically be pushed to the incumbents\\' assignments. 

D. The customer can configure which assignment attributes to synchronize from the position. 

Correct Answer: BCD 
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